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i Solution Note
| 312 -8r-Z= P.M.(31£j=ﬂ (B) T
4 4 4) 4
[1-2t|<3=-3<1-2t<3 .
—4<2t<2
~1<t<2 = (A)
|EF +EG| =[2ET] or 2E1 = (C) .

u=3AB-2AC = u(3,-2)
v=3AB+2BA+2AC
= AB+2AC=V(,2) =(C)

2x_ 2x=1_2x°=2x°-2x+x*+1 _ (x-1)°

>0 Vxell " = (B)

N X (X* +1) X*(X* +1)
Il Part A PB+3PC =0 Q—A+2®:6 —
PC+CB+3PC=0 QC+CA+2QC =0
CB = 4CP CA=3CQ
CF -4 CB Co-1cA

GA-GB-GC=0

AG = AB + AC

0.75
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QG =QC+CG QP =QC +CP 15
QG=1AC+AB ~laciice-taciica:las
3 3 47773 47 4
lac iaciiae-lacslag
3 4 4 12 4
0.5

4@=%A—C+@=Q—C = QC and QP are collinear

and since Q is common, then Q, P, and G are collinear.

Al = AB£=2§=\5, then A(O,ﬁ) in (|, i ])
B(—l,O),C(l,O),P(%,OJ,G(O,_\@)

CO= —CA =(x-1,y)= (1J§)

3 2 @J

then, x— 1——1 :>x— y=-— =0Q|=,
3 3’ 3 3 3
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0 2 2 1.25
e e e 3 3 [ 2 -4f3
N N-] I R
er:ye_yG:_\/___:—
3 3
X_.=X. — X, = S 1
P Te TP 2 2 :QG(—E,—\E]
yp(;:ye_yp:_\/g_oz_\/§
0.5
Xaxyg:&
e - hen QG and PG are colli
2\/5 xﬁxyﬁ_yﬁxxﬁ,t en QG an are collinear,
nyXX%:T
and G is common, then Q, P, and G are collinear
CM (x-1,y) and ﬁ(—l,—\ﬁ) 1
for (CM ) and ( AB) to be parallel, CM and AB must be collinear , then
~B(x-1)=-y =y=3x-13.
I 2 11 0.75
Ya3 2232 3
N
E* =(3+2v2)(3-212)=9-8=1 1.25
= E=41,butE<0,thenE=-1
2=a=<3 1=b=4 2
= 2<3a-b=<8
b=3a=9 —4<H=-1
4<4" <9
<2q < .
8=2a <18 g caa?+p2 <34
1=bh" <16
and
LIPN 1ilzrhen££[3a—bj_ 1 S 1opd
34 2a+b 9 34 2a°+b° 9 17 9
Since0< F<1,thenF?<F<+F
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(5 Jeo(2ee 5 =5 )
COS| — |=cC0S| 27 +— |=cC0S| — |==
3 3 3 2
sin = =sin| 27 -2 |=sin| -Z | =—sin| Z :—ﬁ
4 4 4 4 2
cos| 2% | = cos ﬂ—ZJZ—COS(z :_ﬁ
6 6 6 2
1 J2 3) 1 3
then A==+42 .| -X2 -3 |- X2 |==_1+2=1
2 \/_[ ZJ I( zj 2 72
. 97 ] T } T . (
SIN| X—— |=sIn| X—4z—— |=SIn| —| ——=X | |=-=SIN| ——=X |=—-C0S X
2 2 2 2
cos (7 +X) =—Cos X
sin(7z—x) =sin(6z + 7z —x) =sin(z—x)=sinx
T .
cos(x——} {—(——xﬂ:cos(g—xj:smx , then
B =—cos X (—cos x)+sin x(sin x) = cos® x+sin® x =1
1.25

2sin® a +¢cos° a = 14
2sin’ a +1-sin« :%
J5

sinzazg :sina:—?, (since a € QIV ,sina <0)

also: 2(1—cos2 a)+0052 a :%

2—20052a+cosza—%
CoS a=§ :>cos(x_§ (since 2 € QIV ,cosa > 0)
5
then tana = sNa :—3:—ﬁ
cosa 2 2
3

oo {33

=—J5+2+6-2=0
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B+C=1+0=1=A -=
— 2.5
% <0 (hasasolution S))
X_
2-x=0=>x=2
—4x=0=>x=0

Xx=1=0=>x=1

X —£ 0 1
2-X + + + -
A= 4+ _ _ -
-1 - - + +
[2—x){—4x] - + E'- +
x—1

(x-3)"—(x=3)>0

(x—-3)(x-3-1)=0

(x=3)(x—4)=0
X o 3 4 fx=
¥-3 - O+ +
w-d - 0+
(x-3)(x-4) |+ T- 9+

The solution of the system S =S NS,

S:Xe]—oo,O[u]l,Z[

S, :xel]-o,0 UL 2

S,:xe]-o,3]u[4,+
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- 2(x-1) -2
(x-1)(x-1-3-2x) x+4
M[>2 = > 2
|x+4]
=>—>1
|x+4]
= |x+4/<1 (if %>§:b<a, both aand b are positives)

=-1<x+4<1
= -5<x<-3 orxe]-5,-3

1.5




